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Today we are going to have a look at formal methods using addition. 
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 Have you spotted the mistakes? Here is the answer to check:
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Spot the Mistake

Ruby has completed these calculations. Can you spot the mistakes and
calculate the correct answer? Check with a partner.
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Adding 3-Digit and 2-Digit Numbers - With Carrying
Caleulate the answers tothefollowing:

673 457 304 615
18 . 25 . 69 . 38
149 805 67 581
. 16 . 85 + . 671
292 670 6 387
. 36 < 72 .7 + 51
476 158 3
. 45 . 74 .
Calculatsthe following caleulations:
a7 s_s
4 65

7196




